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® OA=0B @)AC1BD ® 0OC = 0D
@ AC =BD ® /A =90°




4. SHATEE ABCD YA AC = 12-2x, BD = 8¢ o], x2] &
T-stefet.
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@1 @)2 @ 3 @ 4 ® 5

AC=DB°|EZ 12-2x =38
Lox=2
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® DE = 12cm

@ BC = 19cm

® ADEC*E 3474

@) aDEC ] £ ol 21em
® pABCD 9] E8]9] Zo]+= 50cm

S5
/B = /C =60°, AB =DC = DE = 12cm©|2& ADEC =
o] FH Az olt}.
(C = /DEC = 60°
uw2bA ADEC+E WZho] =% 60° o] 22 H4zto|tt, - EC =
12(cm)
/B = /DEC°]2&2 AB//DE°|1, AB = DE = 12cm°|2&
ODABED = H Aol
AD = BE = 7cm
-~ BC=BE+EC=7+12=19
w24 pABCD & 9] Zo]E= 74 12x 2 + 19 = 50(cm) ©]t}.
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AOBMZ%X4X3:%X5XW

o MN = 2.4 (cm)
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AE=FC, AE//FC st2 &
OAFCE & H Aol
CF=4°|E2 DAFCE =4x6 = 24
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@ AC @BD ® 0A +0C
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OHEE ABCD 9] ?F 9] Zol& a 2t 5t
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DABCD = AOAB-l—AOBC—l—AOCD—i—AOAD
—><OP+—xOQ—|——><OR+—><OS

g(OP+OQ+OR+OS) ©

TE3HACE 1°2W AB =BC, /B =60 °]|22 aAABC = A4t
ZIgoltt. &, AC=qa°|BE
DABCD—%X_CXB_:ng_...Q_)
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S 133} Zro] SHAHE]E ABCD 94 AD // BC // EF, AHLBC
ojtt.

AG: GH =2:10°]1, Althe]E AEFD € EBCF 9] Ho|7F 228 of,
EG 9] ZoJ& Fatofet.

@1 @2 ® 3 @ 4 ® 5
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AG =24, GH = 4,EF = b2} 519
OAEFD = oEBCF 0|22
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12. o2 293} 2ol Az ABCD A A C7F Ao A=
Ak /D’AF =22°Y W, /FEA Q] 7|2 g2re 729

@2 @u @3 ®wu  G)see
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(AFD’ =90°-22°=68°

(FEC = /AEF,
(FEC = /AFE =/x2 =0H,
OAEFD’ of| A

90°+90° 4 68° + Zx 4 £x = 360°
o /x = (FEA =56°
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@ 18ecm @)20ecm @ 22cm @ 24cm ® 26cm
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AFBO = AFDO(SASSHs) o]l B2

FB =FD

AFOD = AEOB(ASARE)o|BEE2

FD = EB

ABEO = ADEO(SASE%) 0|2 &

EB =ED

w2tA FB = EB = ED = FD °]|2 & oFBED & ul=Xo|t},
wtebA] oFBED 9] =89] dol=

FB+BE+ED+DF =4x5=20(cm)
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7, ED 9o A A, oA W Z=A0] uhe 7}z p

& ZH2E P, QeEr & o,
AF = 10cm, DQ = 8cmo|tt. o] o, AP 9] Zo|z 4o A9
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AAPD ¢} ADQC oA

(ADP = /DCQ, AD = DC, /APD = /DQC
AAPD = ADQC (RHAES)

. DQ=AP =8 (cm)
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® /A =/D @ AB=DC
® AC=DB @AACB:ABDC

® /BAC = /BDC
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/A + /B =180, /C + /D = 180°
SHA R E 2] A oof oA
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